CHEMICAL SCIENCES

Time : 90 Minutes . Marks: 100

1. ~ Whichofthe fbllowing combinations can be regarded as soft acids?
& (Bob TS b edirenre HBoSHE w0ty DB ?

a) Sn™,BF, S G e

¢) SCN-, H d) Na',NH, -
2. Whichofthe following platinum complexes is used in cancer chemotherapy ?

& (Bod =RS* E)5 S R6R Kod DIGrAoBE xdivo Boggo 96 ?

a) [P{NH,),]* b) cis-[Pt CL(NH,),]

o) [ETELT: ' d) trans-[Pt CL(NH,),]

The complex which exhibits lowest energy electronic absorption band is
o) JoFTRE T 48 HE B0 Voggo

L8]

a) [NiCL* b) [Ni(H,0)J*
c) [Ni(CN)4]2‘ d) [Ni(CO)4]2+
4.  Cobalt is present in

5% EOASH

a) vitaminA b) vitaminE
DWS A : DS E

c¢) vitaminB , d) vitamin B,
XS B, , DLMS B,

5. Hybridization in [Pt(NH,),]** complex is
[P(NH,),** $08506® osb8tmo

a) spid ' b) pid
c) sp’d? ; d) spd?

6. IUPAC name ofthe Fe(CO) SIS

Fe(CO), Gw) IUPAC sio

a) Pentacarbonyl Iron (0) b) Pentacarbonyl ferrate (0)
BorsERE 055 (0) 2otrsBiSS 2 (0)

c) Pentacarbonyl ferrate (2) | d) 'Pentacarbonyll iron (3)

2oErsBHRS 2B (2) oLPERS 58 (3)



10.

11.

12

The magnetic moment of an octahedral Co (II) cemplex is close to 4.0p,. The d-electronic
configuration of Co(Il) in the complex is

¥ ofmodad Co(ll) Sofgo @nE) ©uhdod Frddo Devd 4.0u,© BS&odore &od,
& Co(Il) Sogges® d-do(sS axsgdo. ' '

43 : : St )
GEeaal 3 4

The trans directing ability in the substitution reactions of square planar complexes is in the order
$de SHBH Sodd Sy HEESH SGes® (EP) Fxadss. ITHe FHgEH0

a): NH, < Py<Cl <br b) Br  <Py<Cl” <NH,
¢) Br <CI <Py<NH, d) NH,<ClI” <Py<Br

Carborane is

=ENOS wod
a) Mixed hydrides of carbonand boron  b) mixed chlorides of carbon and boron
se)m B SR rEg WFo SejiSIvlalony ool §8% DEvo
c) borazole d) borax
Fo5S )

Among the following Silica gel is
% Bod TP 2O BS

a) NaSiO_SiO b) Na,SiO,.(NaSiO,)
v s s # Siont hat pigmt o |
¢) Ca,Si,0, d) - Si0,xH,0

The EAN of Mn in Mn(CO),(CH,.CH,) is

‘Mn(CO),(C,H,.CH,) Sotd Mn &»¥) EAN (D8 Hseeen DogRg) Dend

a) 36 b) 86
c) 18 ' d) 54
Hybridization in diborane molecule is

BEH58 e Sotd HoBbssemo

a) sp’ _ b) sp’

c) sp d) dsp’



13

14.

15

16.

17.

18.

Which of the following is not a periodic property ?

& (808 TS B8 550 B D6 ?

a) density b)
Fo|t5e8

¢) atomic mass d)
(&550°8

The color of transition metal ions is due to
28RBS 65 sy BordD seBeas

a) Partially filled d-orbitals b)
- arggore Qodals d-sb)tre)

¢) complexing properties d) -

BogLEe S8 Hwrso

ionization energy
©CHAEBE B0

atomic radius
DB Seea0 ;3°§é)°go

metallic nature
eS‘SQ":"‘é)QSa:*’aﬁo

higher vibrational and rotational energies
©HE EoDdd Hdo (s FHew

Among noble gases the one with least ionization energy is
aesi@:g Te0HeS® wde) @cﬁ:ﬁéém%éém e S0

a) He ; b)
c) Ar d)
The oxidation state ofiron in haemoglobimn is
SERREDS Sotd 088 ef)sse 38

a) 0 b)
C)ot2 d)

Kr
Xe

+3
-2

At 300K the forbidden energy gap in Germanium is

300K 58 @?iéi)o‘ﬁoo G ?J%;Cg 48 @oso

a) 1.09ev , b)
c) 0.785ev d)
In metal carbonyls the ligand CO canact asa
rstiSes® Brrol “CO” (H58S

a) o-donor and m-acceptor b)
G-Trd LB T-AREG

¢) oand 7w donor - d)
0 HBo» T T

1.21 ev
0.72 ev

o and n-acéeptor
o $B0%0 T-RxEY

n-donor and G-acceptor
T-o°8 $HB 6-8xEY



195

20.

21.

22,

23.

The IUPAC name of ferrocene is

PE°RS B IUPAC 25

a) bis (n’-cyclopentadienyl) iron (11) b) bis (cyclopentadienyl) Fe(Il)
8% (°-2872067836) 065 (1) 9% (R85 0¢rgR6) Fe(Il)

c) bis(cyclopentadienyl) ferrate d) bis(cyclopentadienyl)ferrite
AR (R8%20trg36) 2B S (RET20er3S) 28S

Jahn-Teller distortion occurs for metal complexes

25-80b 3080 & &5 ‘éoﬁé;vés Eenihdhod

ca) d° _ b) d®

¢) d° d d°

When a paramagnetic substance is placed in Gouy balance there is
edD @008 HoE® o8 Fo° ©OHFOE ST GoDSQos

a) decrease in weight b) increase in weight
grdo Srp&ob B0 DHIHEHOH

¢) nochange d) oscillation m weight
So)) SOED gP50 QOBET GoKH

Mischmetal contains mostly

2 S5roS® wdEorr doad

a) copper b) magnesium
506 Diytacho

C) manganese d) cerium
e Tt $80%0

Job’s method of continuous variation is used to determine
25 A0BB HOBES HEBR aSAErPA0D EHEYS wodo

a) stoichiometry b) concentration
o8 [ilats)
c) molarextinction coefficient d) formation constant

Jrerd Dend) oeroo Aoy HoroSo



24.

25.

26.

27.

28.

The structure of XeF o1

XeF, @) dooeso

a) tetrahedral b)
SHERAHo

c) square planar d)
oo S0

trigonal pyramid
(BeHe: DEDHE
Imear

Bdcho

Which of the following has highest magnetic moment under low field conditions ?
& BIHD ©oIrPE® polrEE H0%Hes” eERE ©chINS PSSR KOA $od warS DB ?

a). b)

c) Mn* d)

Which amino acid has no asymmetric centre?
RS BB desho D& ?

a) histidine b)
RS
()
c) cysteme d)
255

(&) cad

Ni**

alanine
QOIS

glycine

TS

The mass spectrum of ethyl benzene contains peaks at m/e 106, 91 and 65. Which ofthe species

given below is not responsible for these peaks?

=S BofS @) (508 $EH00S° m/e 106, 91 B 65 58 Baren &5)D. & (Bod AS° B8

2 Bporen BoK ?

a) ethylbenzene b)
23S BoES

s ko d)
CsHy

An example of basic amino acid is
58 JePSo Ko dDTeio

a) lysine b)

B3
¢) alanine d)

QOIS

ethane

&6
tropyliumion
(E°0D0H0 S

aspartic acid
sIBES sio
ghutamic acid
19er0E epo



29.

30.

3l

32

33

The carbon atoms of glucose involved in osazone formation are
20ES Joeos® FED KSRGS DoSrenden

a) C, andC, b) C andC,
C, %605 C, C, %608 C,
¢) C,and C, - d) C,and C,
C, %6a% C, . C#60% C,

The compound whose mass spectrum shows m/e values at 156, 127 and 29 1s
a8 ':63)&%2’:60 @) (Boe8 SPHwo m/e DendSen 156, 127 oBakw 29 e900& e 533&%4;60

a) CHBr b) CH]I
¢) CHBr d) CH]I
The strongest electrophile ‘among the following is

& (8ob TE peHand JOEPS

a) NO* | b) NO
¢ NO, d HO

The following reaction is known as
& BIDD Bk S5

@ Hovaynet [/ \ ﬂ__H

N N
a) Michaelreaction b) Manichreaction
DS s Lo S8
c) Gattermann reaction d) Wurtz reaction
KE8S 83 &b $55
5 : %

Ethyl acetoacetate belongs to group of compounds containing

2BS ANE° MRS Ge Y SayFred BobIB.

a) active methylene group b) one carbonyl group
HEBS DHOS Vo Ko 2.8 5°BHRS Do Ko
c) active ethyl group d) zwitterion

HEES PS oo Ko BB oS



34.

35

36.

37.

38.

39.

Sodium salts of carboxylic acids when heated With_ soda-lime give
o208 eire Bdaho olerod Foe-gHs’ SBB0dre DBYE6.

a) alcohol b) ketone
se)sPen 8PS

c) aldehyde d) alkane
eO3rh : @Eﬁgﬁ

The most unstable free radical among the following 1s
&5 BIDN TR (P8I0ES” DD eRBEHaIH

a) (CH)C. b) (CH,),CH.
¢) CH,. d) CH, CH,

Which of the following groups exerts +1 effect?
& (Bots RS 55 (@008 (Perard) Hrm SEurdro 26 ?

a) —CH, = b —Cl
¢) —COOH d —NO,

Which ofthe fdllowing compounds is the strongest acid?
& (808 E° w08 weand eipo B ?

a) CH,COOH b) CICH,COOH
¢) CLCCOOH - d) CH,CH,COOH

Kolbe-Schmit’s reaction is used commercially to produce |
558 -39S 5% SD@TAOD aRrBRBRE’ Sasrthiiakn SayEiso

a) Perfumes b) phenol
B geen berd
¢) salicylic acid d) alcohol

FDOVOE epo we)sSien

Carboxylic acids can be halogenated at the a-position by

& S5 aH@ehod SoB)OE slre a-Fred EPs” HEFHTS.

a) HVZreaction : b)  Waurtz reaction
HVZ 3% és% 585
c) Grignard reaction d) Friedel-Craft’s reaction

(Brd =85 PES-y B



40.

41.

42.

43,

44.

Tautomer of 2-amino pyridine is
2-203° HBES TY) ererHE (SerSAS ;3*’&59)'5550)

fl Q
‘ =l
N NH N NH
S d)
N NH N NH

The two forms of D-glucopyranose obtained form the solution of D-glucdse are called
D-18% (meseo $08 d8)E D-1pE 285" @) Botd Braren

/

\

a) Isomers b) anomers
RE : ATHG

c) epimers - d) enantiomers
DB VPRI

Which is more basic of the following ?

& (8od " 0fY FEdEESo Sob 6 ?

a) (CH,),NH b) CH,NH,
¢) CH.NH.CH, d) CH,NH,

The key step in Cannizzaro’s reaction is the intermolecular shift of
Bert® Stgehotd gy $¥6° 28N woss W w6

a) Proton b) hydroniumion
(DFerS : ERH0 8dieS

c) hydrogenatom d) hydride ion
E%S S8 EE 085S

Reduction of an isocyanide gives
FICHIE ©dirS ehEsmo Bokio Hg LD

a) primary amine b) secondaryamine
56 S0 ok D&S
c) tertiary amine d) amide

BeEHS DS JE



45.

46.

47.

48.

Alcohols on reaction with concentrated hydroiodic acid and red phosphorous give

| sepsenen T THETEE o BT B FRBR 8 Sty 20 DEED

a) Alkyl halides b) alkanes
g5 ToR &
c) aldehydes d) ketones
QTR '

Anti-aromatic and less stable among the following is
&5 BI0D TASE® D0B-DEErEE HBak JBEo Sy &) Jakydo.

a) 1,3-cyclopentadienyl anion b) Cyéloheptadienyl Cation
1,3 - 2 0erEonS XS PETraPEandS SOOTS

c) azulene d) heptalene (planar)
2D 3?5;@)5 (Kode)

Which ofthe following is relatively more acidic ?
& (8od IS Fagore ©bE el Krdo Sub O ?

a) Oxalic acid ' b) malonic acid
esrp98 a0 HHE*VE edo

¢) succmicacid d) adipic acid
$8)0E essno : Q&E e5ho

The compound which gives acetone and cyclohexanone on ozonolysis is
2 ONS (HBHE® 'S Do 2ETTETRD 1) SyEo.

2 ) B
_ b) S }]{3

&



49.

50.

Sk

32

The higher boiling points of alcohols are due to
sepsFeven @b aaﬂﬁgaﬁa’)(ﬁ :3333"&13 EOA 0% 50880

a) Dipole-dipole interactions : - b) water miscibility
EREDH-BED3S w8 geen DBcHo 61 eFemo
¢) hydrogenbonding d) low decomposition temperature

?@6&35 DOTFED LS DS é:ﬁ;@ié

What is the product “Y” in the following reaction ?
& BI05 SKE® a0 Y8 ?

NH
CH,COCL——— XM,y

Br2
a) CH,COOH b) CH,CHO
c) CHB'CONH2 d) CHgNH2
The IUPAC name of
& ey IUPAC a@sho
0 (0]
H H Hz H2 H

a) Ethyl-4-oxo heptanate b) Methyl -4-oxo heptanate
RS -4-8)) THIS - RS-4-w8 IS

¢) Ethyl-4-oxo hexonate : d) Méthyl- 4-0x0 hexonate
5@5-4-08% e PS-4-w8%) ENIE

When helium is forced to pass through a small valve under adiabatic conditions, heating effect is
observed. It is dueto its :

&8 O%) Eein TE° SPOAHo TPaHH JEEE DB, o Sobre aio KH0SEDE:
B8 soBes0. |

- a) Joule-Thomson coefficient is zero b) Joule-Thomson coefficient is greater than zero
ES-ToR)S Hesso ) S-S Heso ) o Bl
¢) inversion temperature is low d) inversiontemperature is high

D% SRPES E&S 26 aSPES JG8



53.

54.

35;

56.

57.

The critical temperature T _is related to Vander Waals’ constant by the equation
0iE arS JoroseRB, Koty efns T, & Hiie Somoto

a) 8a/27Rb b) 3b |

c) 8b/27Ra d) a27v’

Schottky defect in crystals is observed when
$)Bsros® ) 6%,

a) Equal number of cations and anions are missing from the lattice
& Hod BEPY Boggs® seerciEier B Dbcirien E50He

b) Different number of cations and anions are missing from the lattice
&R o8 i) Jogges® seercirden B DScsrHen E¥%oHe

¢) Adifferent cation is present in lattice
8T Soth 2.8 [HEEDaS Seectrd Soth

d) A different anion is present in the lattice
- R S0t a8 [HEESoNS DS Eeth

Which one of the following is an endothermic reaction?
& 800 S QTS S5 DB ?

a) Freezing of waterto formice b) carbon monoxide is- oxidized to carbon dioxide
DB B0 HOED0DH Satoey SYHRIETE)E, SESRER)Ere ed)Eteso Bod 55
c)  Water is boiled to steam - d) Sodium hydroxide solid is added to water
A8 HBAOY eDbre &8) H85 - Ao TEB)E o) HBE Sye

Addition of small quantity of indiumto germanium gives
FHAcPho E°HFIB B8 H85re08® moBHSD S5 KDLSEH DBEB.

a) Super conductor b) p-type semiconductor
@8RS0 p-8%o @ga‘%ﬁt’éo

¢) n-type semiconductor d) msulator
n-%go @gaﬁa’ﬁéo 0P8R

Liquid crystal behaviour is prevented by z
6555 B (585 A6°poTo

a) longchams b) double bonds
DEEIS Fjoperen Bspogren
¢) ionic configuration d) non-linear structure

aPRE dagdo Bhoho 52 Riopoate!



58.

39.

60.

61.

62.

Leﬁst ordered and liquid like liquid crystal is
©8 S (K0 SOA G0t (o erod (55 HB¥o

a) - Smectic b) Nematic
88 VEES
c) Cholesteric d) Cubic
§*9R08 SRS
Lower CST is due to

Ay ¥odY (Eeses SSfHES s°8eo.

a) Partial immiscibility b) Impurities
¥ o\FBeHS SodTeen
¢) Highconductance d) Hydrogenbonding
bE TS &S 200
Addition of succinic acid to phenol-water system the miscibility temperature.

DS -6 S5 $ETE eSER) K08 MFRcHEe ST

a) Increases b) Decreases
WD &5
¢) Nochange d) Randomly affects
SPENSE , (BBERSore (HgPdo wHrsd

The Langmuir adsorption isotherm can be used to model:
roRE ©p ke SIRfE® Spid, & BIvS O JHATIS Srarre BH),

a) Multilayer adsorption b) Adsorption at high pressure and low temperature
250 SP8e ©hET R0 8% HkHo Hdc ©e) ésig@ié Sl 0B850
¢) Unimolecular adsorption d) Chemisorption
DEDE B R0 BrcHS ©beS o

The number of components and degrees of freedom fora saturatgd solution of sodium chloride
containing undesolved salt and in equilibrium with water vapour are

L6159 oo §BE Ko FBabo §BE Ko (o IO gos° KHTRas® ézé&aytfa oo
Dogy B FxBo(Ey DB Koggen :
a) 2,1 b) 22
e). 1.2 _ : d 11



63.

64.

65.

66.

67.

68.

Number of components in the following system are :
& (Bod ééa’a}gé‘s snéosre Kogy
CaMg(CO,), +28i0, &= CaMgSi,0, +2CO,

a) 3 b) 4
c) 2 d 5

The osmotic pressure of a 0.2 M solution of KCl at 27°C is
27°C 8% 0.2 M, KCl [primo @) ((5aridbes bisso

a) 4.42atm b) 0.89atm
c) 6.85atm d) 9.85atm

The freezing point of a solution containing 2.0 g ofa molecular(non-ionic) substance dissolved in
10.0 g of water is — 1.86 °C. The molecular weight of the substance is (K, = — 1.86°C/m)

2.0 [riwe JoeeER) (9aird8o 5208) 10.0 ([riwe ABSE° EBACDSHD DEES [FHwo EwE)
00555 o — 1.86°C. 8BRS Srgo eewgrso (K, = — 1.86°C /m) .

a) 200 . b) 93

c) 186 d 372

Arrange the following 0.1 M aqueous solutions in the order of increasing conductance
& 8105 S oo @) 0.1 w0 [PiEre s et S,

a) NaCl< CH,COOH <CH,,0,<HCl b) HCI<NaCl<CH,COOH <CJH, 0,

¢) CH,COOH <CH 0, <HCI<NaCl d) C.H,,0,<CH,COOH < NaCl < HCI

The value of K, for a weak acid is 4.0 X 10 mol. dn1™. What is the degree ofdissociation of the
acid in an aqueous solution of concentration 0.010 mol. dm™

2.8 2ofrs sio ) K Dend 4.0 X 107306, 2808672 egcmé 0.010 e, B85 e Ko
2o(EPH008° & efho Tl IS ZJcoe)é’a Qo ?

a) 02 b) 0.4
c) 0.8 d) 0.1
The emfofthe following cellis :

Zn(s) | Zn**(aq, 0.01M) | | Zn**( ag, 1.0M) | Zn(s)
&3 (8ob svéro Gw¥) emf':

Zn() | Zn* (.o, 0.01M) | | Zn?*( .o, 1.0M) | Zn(5o)

a) -295mv b) 295mv
c) 0.0mv d) 591mv



69.

70.

1

72.

Calomel electrode contains a
BoHS (Deang HoBD Hrrgren

a) Mixture of quinone and hydroquinone
&S B FE BT M(Edo

b) Paste of mercuric chloride, mercury and KCl
D508 5B, Todod Hbasw KClo iy

¢) Paste of mercurous chloride, mercury, KCland H O
DERBD %38, 8B, KClHeam H0 e 'ﬁ:‘ég

d). Mixture of agar-agar, KCland H,O
ored ored, KClHoahn H,0 o diEdo

The emf ofa concentration cell or chemical cell can be measured using a :
2.8 PGB 060 Boe ok D0 g DbgEes perd) FeSneRs DAGrA0D HBBBO

a) Voltmeter b) Ammeter
G &b EHINS

c) Potentiometer d) Coulometer
BT oed Erendoeod

The slope of Arrhenius plot gives
DD HELD B Foen

a) Rate constant ' b) Activationenergy
Sew gxroto aaRs 48

c) Frequency factor d) Boltzmann constant
Sy Heeso &%@5 Rxrogo

The rate constant for a second order reactionis 4 x 107 lit mol™'s™. Ifthe initial concentration of the -
reactant is 0.05 mol/ lit, the half life time is, |

a.._é aSédi) SEehelst €50°§ Bew ?gmoéo 4x 1072 O 3rS! 285 Bosrasto BoE) (P80 i
0.05 35/ eond, $org eTO) Teio

a) 8.3 minutes b) 5.0 minutes
8.3 Doaren : 5.0 kwaren
¢) 20 minutes d) 2.2 minutes

20 Ddwaren 2.2 QSnapen



73.

74.

.

76.

A catalyst increases the rate of a reaction by
2.8 &B)5%0 So% Bexndd oBERE s°6ee0

a) increasing the collision frequency b) increasing the activity of reactants
oDioed D0 DosEo TR 7 BoSrabere [Ecirdod Dosio Toe

¢) changing the reaction to exothermic d) proceeding ina path of lower activation energy

S5 agBresors Segiko T S5 682 98 o o) BHBooHEO TP
Fluorescence radiation is of compared to excitation radiation.

Pt DESmoE HOSHD, H8ED Do

a) shorter wavelength b) higher wave number

B Bvoridgo EOH eotnod @RS SBoK Yoz EOA Gotnod
c) lower frequency d) lower velocity

BE)H :H¥50 EOA S0wod B Do EOA &otod

For the reversible reaction P(g) + O(g) = R(g) + S(g), AG® =—390kJ
Which one of the following statements is true?
&3 BIDSH BINS SEB Ho0RHODY VIS TEH

P(=) + O(=) =R(=) + S(=), AG° =-3908.2°

a) Thereactionis thermodynamjc_ally not feasible
SA8E B°Qo (Hse8o & Sy 2B

b) Equilibrium constant is greater than one

BT D8 2T°0E0 2.8 Kok aéa&::
o 9

c) AS isnegative
AS SerdEo

| d) Thereaction should be spontaneous

& 555 @ofnesaée)éo

Vibrational modes will be infrared active if there is a
Kod bben HTBes 5°088 YoBoTrO0E oK.

a) dipolemoment b) change in polarizability
B [gesv¥o ; i cﬁgaﬁea%eaéés S
¢) change in dipolemoment d) changein volume

Bt (r%os® dee DEH0ETR0E® HrEy
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78.

79.

80.

8l.

82.

The selection rule for harmonic oscillator is

STE)S oo @nE) J0E Qoo

a) AV==l b)) AV=x],32, 33 ..
¢) AV=0,+l ’ d) A=+l

Selectidn rules for pure rotational Raman is

B (geveo TR SPde Ro8® DoBE Jhdren

a)  AJ==l b) AV=0,%l
gy A¥F0, £ d AJ=0, =1

Polarizability of a molecule has the units
2.8 o) GSndod @Y Eirere

a) eV b) om’

c) gm/cc d) pp

The wave number of infrared absorption for a harmonic oscillator is directly
proportional to .

2.8 SrooE)s BBeto $520HEE Hordiesrod Gng) Sbor Josy ' % &S

Ses0&® @otnod.

a) reduce mass b) squaré root of force constant
Bourg)s (Ba0°3 S5H0(BE e Gho¥) SEBTeTD

¢) moment of inertia d) square root of dipolemoment
e3sEs (gPad¥o BYEOS (grdto Ro¥) SGoreesm

The spectrophotometric determination of manganese in manganous sulphate involves
SgdeEFHE0 SB&PAOD 2rorS KBS &% ErorID EHTD o’

a) useofacomplexing agent b) useofareducing agent
DogRsOR SHRPATED EoHE858 SDTrATS

¢) ogidation to permanganate ion d) photochemical reduction
BOORIST™ od)Ebem0 TI 08 BPCHS EeHEBE0 GDIPATD

Saturated hydrocarbons can undergo electronic transitions of type
o TIESes® 20h JolgRE H0XS Seo

Q) g*e—nm , b) #*—n

c) d(_a d o*<o



&3.

84.

85.

86.

87.

The symbol of point group is known as
Doth SHursro @) HoSBo

a) Mullikensymbol b) Kronecker symbol
S0DES Koo &%985 sodso

¢) Schoenflies symbol _ d) Schrodinger’s symbol
SeanS N Hoddo ' 80Kt “o8o

o, is aplane

o, $o0
a) Perpendicular to major axis b) containing major axis
(BT°S ©zPA8 woworr Gonod (B°S egrd) EOA dotnod

c) bisects angle between verticalplanes d) contains inversion centre
QenHre aod Sore D& 5‘5991#001 DE*HS éo@?&h 5OA &otnod
Db Bnod

Accuracy ofa determination can be quantitatively measured using 2
BSerio Tyoe AawodS a8 FPEE T8 Go8) AHTPEED BoSrtESore SoSKORG

a) Relative error b) Standard deviation
Fog 8%0 (Be5eBE DiSedo

c) Variance d) Anthmetic mean
SJ‘%@ ©OE g0

Which ofthe following techniques is not used as detector in GLC ?
GLC &° &58nre 65@rhosss D8 ?

a) Electrical conductivity b) Flame ionization
De5rg8 TeEeES e ©CeHASBE0

c) Nmr d) Thermal conductivity
ZolB8 ©ahIed edrrto (nmr) D8 LS

In infrared spectrum the finger print region is
Soethes 5850 BwE) Hord (Rotn (@rodo

a) 4000 - 2000 cm™ b) 1400-900 cm
c) 1100-400 cm d) 900- 660 cm’



38.

89.

90.

21

92

/

Which of the following techniques is useful to identify and quantify impurities in drugs?
DotHed” HVTDH HROD HBAD HOKFEY) Bod ST S5EFAOS 558 26 ?

a) IR b) MASS
¢) NMR d) HPLC

In chromatographic separation which of the following factors is used for qualitative identification of
the substance?

E°5E 59 H5BE° D Fsire$H08 FTToH SHDDeB0s, K (Bod womred® O oy &B@rACD
| : X 33 )
e EEOTT &8 ST 1HEFE ?

a) Retention time b) Retention volume
6&3@_‘5 QDoho 68@5 D3B8 ez0

¢) Retention factor, Rr d) Relative retention factor, Rrel
Dot Dends, R, Ty DotS Jend, R

Electron density at a particular point is proportional to
&8 ABL PS0 S8 oIFR Fols e ErHIE0s® ¢od woo

a) squareofthewave function ~ . - b) DeBro glie wavelength
ot (B $¥o 6" Soriexso

¢) Rydberg constant d) potential energy
6828 2rogo NBes 3

The de Broglie wavelength ofa particle is given by

&8 Swo @) 8(5° SBorgS50
a) nv b) hmv
c) mv/c , d) mc?

Which of the quantum numbers does not result from Schrodinger’s wave equation ?
(EB& oG B80i $EBes0 Hrod 68)00U5E s3oL0 Sogy DB ?

a) spin b) principle
QO (656
¢) azimuthal - d) magnetic

ABI0SS @cﬁ)&&oé
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95
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According to Heisenberg’s uncertainty principle

simultaneously

NG edfBE; JoHHe (Feeo JFS TnE)

a) massand position
(555078 B s

¢) massand charge

(B550°8 58050 o

Omeprazole is
LoBES wB

a) aprotonpump mhibitor
a8 (@i HoD %580

c) used totreatasthma
B3Er DEHE GHRFATD

Saponification ofeester is a
6 2VGEES SoogEsmoso

a) zero.
0

c) second
ExBd (Esrogo

ofan electron cannot be measured

b) charge and position
30 DB oW
d) position and momenturn
; 33:65;0 bt (%Ko
b) antimalarial drug
D08 HBBATE Hok
d) antibiotic
Qoddrds
orderreaction
b) first
(S5 (BroB0o
d) fractional
AN (Brogo

The Michaelis-Menton equation relates the rate of an enzyme cataiyzed reaction to
DHOR-Bow’ $EBerRY ©:HB0D 2.8 J0BD @ STBn SESE ©odn

a) substrate concentration
(Basegrdo riEs

c) activation energy
&BAS 38

b)

d)

product concentration

(BoSresigo g

collision factor
&) Heaso

Expulsion of magnetic field from a super conductor is known as
©8aE Hrrgo ol o o wiribn sPHKo

a) Cuneeffect
&m0 HOF0

c) ferromagnetism
26° Clovuspiel h i

b)

d)

Meissner effect
8))?9;8 &0
eutectic effect
o888 5950

D% sre08” gdydorv Eodsdn
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Which of the following is not an example ofaddition polymer ?
& (Bod E° JoBed FOHE =20 b ?

a) Teflon ' b) polystyrene
BFS . : aua)?éaé%

c) polypropylene d) Terylene
ORHOS 8655

A molecule is optically active if there isno
28 o e (@dn TR BEoTe0B SoKEFIB

a) S _axis _ b) inversion centre
S efo DEESS Eolo
c) . C, axis d) noplane
C oo S0 SSotHd

Which one ofthe following nuclei will have a magnetic moment?
& (808 Bz’ D SolrsR8 eahIosERE0 Gotnod ?

a)- e R b
O) S d)t O
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